Precalculus
Section 1.7A Transformations
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Describe how the graph of y = x% can be transformed to the graph of the given equation.
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Describe how to transform the graph of f into the graph of g.
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Find the equation of the reflection of f across (a) the x-axis and (b) the y-axis.
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Sketch the graphs of the function when ¢ = —2, -1, 1, and 2 on the same set of coordmate axes.
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Use the graph of f to sketch each graph.

X 114 y=f(—x)
i s AT
_ (4,2) . |
(—4,2) ' 6,2) (~to 12 r
f(x) \ 2 ) e ‘
< ‘ ! ?_. (. 2--) - L\) 0 4 X'
-~ i f Lo
N . -
(=2 =2) (0 =2 (0,°2) wa |
A 4
15. y=f(x)+4 16. y=—-f(x—4)
4,k . j‘{”‘} : #
_ - _ (-4,2)
(“21‘2;“) i\ ~ (M"Zlg-)
2% X o
{0 _ (0,2) _ P :
!l’f@., ) » ' » | Clay-2) - A S
) ) At
Rxa\f\'\ Y
(ﬁ) a"lj
(2 lfﬂ‘
oy 2) : '
b éﬁ 10 - B Y
17. y=f(x)-3 18. y=—f(x)—1
i YN . R EEL
(-0 P |
(2-1‘“5% (“2;?3
. (o, 2)
Lo "f;) 5| le2) 7 2
(tﬁ"ﬁ% ~ down 1. . /. ; "
\ f'ft C""\\" E‘)
-2, 1D
(o, )
3 ff& 3‘) \ 4

Write an equation for the functlon whose graph is described.

19, The shape of f(x) = x?2, but shifted two
units to the left, nine units up, and then reflected

in the x-axis
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20. The shape of f(x) = x3, but shifted six
units to the left, six units down, and then
reflected in the y-axis
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21, The shape of f(x) = |x|, but shifted four
units to the left and eight units down
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22. The shape of f(x) = v, but shifted nine
units down and then reflected in both the x-axis
and y-axis
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Write the equation for the function represented by each graph.
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29, Given: f(x) = ¥x
Write the transformation in 2 different ways to create the new function g(x) when f(x) is:

a) shifted right 1
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b) reflected in the y-axis and shifted up 5
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c) shifted down9 o
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d) reflected in the x-axis and left 7
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30. Graph: A(x) =—f(x—1) +3
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